
Mathematics - IB1 - Test 10
subject: Trigonometry III

8 march 2018

Name: ___________
———————————————————————————————————————————

Total /27marks

Problem 1 [ 8 marks ]

Let sin θ= 2

13
√ where π

2
< θ<π

(a) Find cos θ [2 marks]

(b) Find cos(2θ) [2 marks]

(c) Find sin(2θ) [2 marks]

(d) Find tan(2θ) [2 marks]

Problem 2 [ 8 marks ]

Consider the trigonometric equation 2cos(2θ)+ 4cos(θ)+ 2=−1

i) Show it can be written as

4cos2 (θ)+4cos(θ)+1 =0 [4 marks]

ii) Find the solutions of this equation, for 0!x< 2π (radian) [4 marks]

Problem 3 [ 11 marks ]

Solve the fowing trigonometric equations :

i) 2 sin(2x)=sin2(x) for 0!x< 3600 [5 marks]

ii) 6 cosx−4 sin2x=0 , 0!x< 3π (radian) [6 marks]

Bonus :

Solve 4 sin2(2x) =3 for 0!x< 3600 [ +5 ]
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